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Ax = b, b = A
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Example 1: tridiagonal matrix

solution

1.000000000000000e+000 2.000000000000000e+000

3.000000000000000e+000 4.000000000000001e+000

5.000000000000000e+000 6.000000000000000e+000

6.999999999999999e+000 8.000000000000000e+000

9.000000000000000e+000 9.999999999999998e+000

1-norm of A: 6.00e+000

cond. number: 2.99e+000

----------------------------------------------

Example 2: Hilbert matrix

solution

1.000000001151211e+000 1.999999888902843e+000

3.000002553571799e+000 3.999975459162863e+000

5.000122109132023e+000 5.999652989437041e+000

7.000584773476244e+000 7.999422317164838e+000

9.000308908317145e+000 9.999930998234854e+000

1-norm of A: 2.93e+000

cond. number: 3.54e+013
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